100

Millimetres

10

0

DO NOT SCALE

SAFETY, HEALTH AND ENVIRONMENTAL
INFORMATION

HORIZONTAL TRASH SCREEN BLADES In addition to the hazards/risks normally associated with the types of work

TO BE 75 x10 FLATS AT 150 c/c 60 x 5 "STEELWAY' RECTANUGULAR PATTERN . . . . . . .
WELDED TO 10 THICK FLATS AT BOTH MILD STEEL OPEN MESH 34/100 FLOORING TO ?S;?gf:ngg Lhﬁzlfﬁ;"(’)'”b% r’;‘;tge”:ﬁ Iﬁm‘ggf’ :'ﬁgg:;"ltore)s'd“a' risks
ENDS WITH 6mm CONTINUOUS WELD 20 TAKE A MINIMUM LOADING OF 5kN/m? OR SIMILAR : 9 9)-
APPROVED, INSTALLED IN ACCORDANCE TO Construction
/ MANUFACTURER'S INSTRUCTIONS e Requirement for services diversions in advance of works to install new culvert
| | e Potential for encountering unplotted services or private underground services
e access to be maintained to residential and commercial properties
2No. HILTI-HIT RE 500 AND TRASH SCREEN BLADES TO BE 75x10 T $ e Presence of asbestos containing materials at Carreg Hir
HAS-R M20 ANCHOR BOLTS FLATS AT 150 c/c WELDED TO 10 | I | *  Presence of contaminated soils in areas of former industrial use (land at Penrhiwtin)
AT 150 CENTRES. MINIMUM THICK FLATS AT BOTH ENDS WITH BOX SECTION 100x100x8 SHS—/F_I: | - Maitaining of existing surface water flows
EMBEDMENT 150 6mm CONTINUOUS WELD = = * Suddenincrease in tiows
3350x300x20 S$355 PLATE FILLET \ j_ 250 LENGTH 150x150x12 RSA FIXED ° ° \125 LONG 50x50x8 RSA WELDED o Z(ce:r/ei::le:vri]l:r:'zquire regular inspection and clearance
WELDED TO SCREEN BLADES \r-” — TO WINGWALL WITH 2 No. HILTI-HIT TO FACE OF BOX SECTION e Trash screen and outfall to be inspected after storm events
*B RE 500 AND HAS-R M12 ANCHOR 35 180 35 CONNECTED TO SUPPORT e Attenuation tanks to be cleaned by high flow jetting
BOLTS MINIMUM EMBEDMENT 150 { { { { ANGLE WITH M12 BOLTS e Silt/rock traps to be emptied to prevent culvert blockage
Use
e Trash screen will require regular inspection and clearance
m D ETAI L m D ETAI L e Trash screen and outfall to be inspected after storm events
e Attenuation tanks to be cleaned by high flow jetting

@Jy 110 W 110 e Silt/rock traps to be emptied to prevent culvert blockage
Decommissioning / Demolition

Requirement for services diversions in advance of works to install new culvert
Potential for encountering unplotted services or private underground services
access to be maintained to residential and commercial properties

Presence of asbestos containing materials at Carreg Hir

Presence of contaminated soils in areas of former industrial use (land at Penrhiwtin)
Maintaining of existing surface water flows

120x120x6 SHS
2 No. HILTI-HIT RE 500 AND

40 @ HOLE DRILLED OPPOSITE M12 BOLT HAS-R M12 ANCHOR BOLTS Sudden increase in flows
FIXING FOR INSTALLATION/ MAINTENANCE MINIMUM EMBEDMENT 150
GRADE 8.8 M12 BOLT IN A YA
14 @ HOLE THROUGH\ EXISTING CONCRETE 125 LONG 50x50x8 RSA WELDED
TO SUPPORT MEMBER WINGWALL TO FACE OF BOX SECTION 20 BOX SECTION 100x100x8 SHS
A 2 CONNECTED TO SUPPORT [ [
o/ L6 bia a0 / | ANGLE WITH M12 BOLTS | |
DRAINAGE HOLE T o |
100x150x16 S355 PLATES FILLET A - ° 7 A EXISTING CONCRETE—= ]
350 WELDED TO HORIZONTAL WALL 500022 ® 9 | 500022 WINGWALL |
PLATE AT AN ANGLE AS SHOWN e e YR g
o | 280 | 35 1 I o ﬂ\
® I | 1 1 I
1 10 BOX SECTION 100x100x8 SHS J\
o| o S =— 350x200x16 S355 PLATE FIXED TO 250 LENGTH 150x150x12 RSA
| N WINGWALL WITH 4 No. HILTI-HIT 45° 45°
X * & RE 500 AND HAS-R M12 ANCHOR ) ON Vo | 1 \/\ 250 LENGTH 150x150x12 RSA \/\
-+ BOLTS MINIMUM EMBEDMENT 150
0 J 150 | | 150 | «
@ . =~
M12 BOLTS IN 14 @ x 40
ELONGATED HOLES FIXING
( 2\ DETAIL (4 DETAIL - CONNECTION TO WALL (A SECTION

@ 1:10 W 1:10 @ 1:10

SADDLE CLIP FIXINGS TO
MANUFACTURERS SPECIFICATION

60 x 5 "STEELWAY' RECTANUGULAR PATTERN

A 40 @ HOLE DRILLED OPPOSITE SPAN 1 - 120x120x6 SHS y ¥,‘l\|kDE SAT'\EAIIE'\IJ_I SEEANLEAES:L 3é4g 205 kFrlx_uO?Fgg% I-ll\-/I(I)LAR
M12 BOLT FIXINGS FOR m
INSTALLATION/ MAINTENANCE 20 APPROVED, INSTALLED IN ACCORDANCE TO
16 350x200x16 S355 PLATE ] 4: MANUFACTURER'S INSTRUCTIONS
|
14 @ x 40 ELONGATED HOLES S < e ||
EXISTING CONCRETE—= 1 FOR M12 FIXING BOLTS - EXISTING CONCRETE—= e |
HEADWALL i HEADWALL ~——————HILTI-HIT RE500 AND HAS-R
Z 2 { M12 ANCHOR BOLT, MIN
— EMBEDMENT 150 SPACING TO
100x150x16 S355 PLATES FILLET ATGH M2 BOLT LOCATION
150 WELDED TO HORIZONTAL WALL M12 BOLT IN 14 @ HOLE THROUGH
A — PLATE AT A 45° ANGLE TO SUPPORT MEMBER YA 100x100x10 RSA
—) @Y ~
- - PROPOSED 1.1m HIGH
SECURITY GUARDRAIL
/2 DETAIL - CONNECTION TO WALL /5 DETAIL (KEE KLAWP OSA)
000021 1:10 000021 110 o
No.54 DRIVEWAY S PROPOSED LOCKABLE
5 SECURITY GATE
EXISTING No.54 BRICKWORK || ||
BOUNDARY WALL TO REMAIN = () ) 24.80
. E E? = "%9 . PROPOSED OUTSIDE
60 x 5 'STEELWAY' RECTANUGULAR PATTERN - - ACCESS LADDER
MILD STEEL OPEN MESH 34/100 FLOORING TO SLOPING TRASH SCREEN BLADES AT 45° 25.030 (VARIES) ﬂ - WITH HANDHOLD TO
TAKE A MINIMUM LOADING OF 5kN/m? OR SIMILAR v
ANGLE TO BE 75 x10 FLATS AT 150 c/c ] GATE ABOVE
APPROVED, INSTALLED IN ACCORDANCE TO WELDED TO 10 THICK FLATS AT BOTH ] : o
MANUFACTURER'S INSTRUCTIONS 20,1V T ENDS WITH 6mm CONTINUOUS WELD : PROPOSED HIGH DENSITY, >
| EXISTING INLET STRUCTURE | : CLOSED CELL POLYETHYLENE o o ~—
< | BOX SECTION 100x100x8 SHS CONCRETE WINGWALL I : 20mm FILLER BOARD 300mm THICK
=) | ; ® : INSTALLED BETWEEN 23.90 l/- RC WING WALL
| | 1 : BOUNDARY WALL AND v 23.87
125 LONG 50x50x8 RSA WELDED 24.290 (VARIES) o I
= = 10 EACE OF BOX SEGTION RIES) e | & MASS CONCRETE INFILL
o o CONNECTED TO SUPPORT 23.60
250 LENGTH 150x150x12 RSA FIXED —= ANGLE WITH M12 BOLTS
TO WINGWALL WITH 2 No. HILTI-HIT |
RE 500 AND HAS-R M12 ANCHOR 35 , | 180 , | 35 NOTE | —PROPOSED C20/30 MASS CONCRETE P
BOLTS MINIMUM EMBEDMENT 150 1 1 = “ INFILL BETWEEN INLET STRUCTURE \/\
THE CONTRACTOR SHALL DESIGN THE TRASH SCREEN, MESH | WING WALL AND No.54 BOUNDARY WALL
m DETAIL FLOORING AND SUPPORTING MEMBERS AND PROVIDE | oL oSED 10001000
@ 110 CALCULATIONS AND FABRICATION DRAWINGS TO THE PROJECT |
MANAGER FOR APPROVAL PRIOR TO FABRICATION. | /[_)\ CONCRETE INFILL DETAIL @ ELEVATION ON OUTSIDE ACCESS LADDER
SUPPORTING MEMBER SIZES, MEMBER THICKNESS AND \ ) 12s G ) s
FIXINGS SHOWN ARE FOR GUIDANCE ONLY.
Description Drawing Suitabilit Status Project Title
NOTES ¥ Y )
8 ALL RIGID PIPES CONNECTING TO MANHOLES AND STRUCTURES Status Revision Drawn Checked Reviewed Authorised Issue Date WORK IN PROGRESS SO GRAN DISON BROOK
1. ALL DIMENSIONS ARE IN MILLIMETRES UNLESS OTHERWISE NOTED. :
2. ALL LEVELS ARE IN METRES ABOVE ORDNANCE DATUM UNLESS OTHERWISE NOTED. TO HAVE A MINIMUM OF 1 No. ROCKER PIPE AND 1 No. SHORT LENGTH PIPE. — Wost Glamoraan House Drawing Tifle
3. ALL WASTE MATERIAL TO BE DISPOSED OF TO CONTRACTORS LICENSED TIP. EFFECTIVE LENGTH TO BE AS FOLLOWS: escripton ‘)) 12 Orohard Stoot
4. FOR INDICATIVE DETAILS OF TRASH SCREEN AND MESH FLOORING REFER TO DRAWINGS 150 - 600 DIA = 600 LENGTH _ | _ Swanson INLET STRUCTURE REF: CUL 0015
NEO5_OO1-ATK-GEN-SWMWREC-DR-CD-000021 . TRASH SCREEN AND FLOORING SHALL BE 600 - 750 DIA —_1 000 LENGTH Status Revision Drawn Checked Reviewed Authorised Issue Date SNC .LAVALIN West G|am0rgan . _
5. INSTALL METEOR STANDARD 4G/3G/GPRS ROBUST REMOTE CAMERA SYSTEM WITH BATTERY 10. THE TRASH SCREEN SHALL BE STEEL GRADEZ275J0 TO BS EN10025 Desoription ATKINS _ SHEET 2 OF 3
AND SOLAR PANEL WITH MCE-RPS-C PILLAR SYSTEM. MCE-RPS-C PILLAR SYSTEM IS MOUNTED 1. SUPPORTING BEAM ARE TO BE GRADE S355 HOT ROLLED STEEL ;e'-_ +44 (0)1792 641172
TO HANDRAIL USING 2M POLE AND OVERCLAMPS 20W SOLAR PANEL (PROVIDED WITH MCE-RPS-C ~ 12. ALL WELDS TO BE MINIMUM OF 6mm FILLET WELD Status Revision | Drawn Checked | Reviewed | Authorised | lssue Date || Member of the SNC-Lavalin Group ax:+44 (0)1792 472019
KIT) MOUNTED AT TOP OF THE POLE. 13. ALL BOLTS TO BE MIN. GRADE 8.8 Copyright © SNC Lavalin (2019) www.atkinsglobal.com
6. NOTE ALL STEELWORK SHALL BE HOT DIP GALVANISED. FOR STEELWORK REQUIREMENTS FOR 14. ALL STEEL SHALL BE HOT DIPPED GALVANISED TO BS EN ISO 1461 WITH MIN. COAT THICKNESS Description — p—
THE INLET STRUCTURE REFER TO WORKS INFORMATION ITEM WI305 DESIGN RESPONSIBILITY OF 140 MICRONS <albot Couy Proect | Originator | Volume
AND SPECIFICATION APPENDIX 1/10 FOR ITEMS TO BE DESIGNED BY THE CONTRACTOR. e D o TRevee Taross oo o RS “s, NEO5 001 - ATK - GEN -
7. ALL EXPOSED EDGES TO HAVE 25 x 25 CHAMFER. § n Z NEATH PORT TALBOT COUNTY —
Description D) “ - :'_ SWMWREC - DR - CD = 000022
%‘W&ES BOROUGH COUNC”— Location | Type Role | Number
Status Revision Drawn Checked Reviewed Authorised Issue Date /Jf*e/ a Q°<\ Origi Proj
S0 P01.2 AJ —  |07/03/24 10l Gastllne® s A1 | scalAS SHOWN K, 5192793 [ sheet 30f 3 [rev: PO 1,2

This Drawing is saved on ProjectWise. Plotted: 07/03/2024 15:52:02 By: JAFA6995



	Sheets and Views
	000022


